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Data Gommunication
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2a.

3a.

b.

Note: Answer any FIVE full questions, choos;iig ONE full question fxom eoch module.

With a neat diagranl explain tq#ffifr6:".rtr 
"f 

data comrgunication. (06 Marks)

With necessary diagrams, giv-dJffi'ddvantages and disadv[nthg"es of star and mesh topology.

quantization levels. ,,, t;i (12 Marks)
Represent sequeneq 01001110 using polhlNR.Z-L, MancheStffi*AMl and psuedotqrnary line
coding schemesl- "'' P,r**-nr" ::1;.*. (08Marks)

."r*,o*
, ,,,,"' mm, ._.rr,;-;ili;N

With appi.epriate diagrams, q;$ffi transmission mo.des in physical layer. (10 Marks)

With,n$-essary diagrams, explain amplitude shift keying and frequency shift keying along

-ffi;;' * ""- (08 Marks)
A channel with a 1-MHa-"bapd#idth has a SNR value l5."Calculate bit rate and signal levels.

,,+ 
-, 

,,,-*ir= (06 Marks)
".:'.,.1,. .

d, ,,,iulrl'r

What is data,*.Spihrmunication? Explaiil',. the fundamental characteristics of data
communrcatron- (06 Marks)
With a neattifl$rarn, explain encapsulati'dil.'and decapsulation process in TCP/P model.

(08 Marks)
Calculeid,,,the propagation time 4#(k$Fe transmission time for a 2.5 Kbyte message, if the
bandwidth of the network is I Gbpi. Assume that the.distance between the sender and the

receiver is 12,000 km and that d[hi travels at2.4x10!,,]Lhl$. (06 Marks)

*;'*11|u* Module-2.,4i'
With a neat diagram,{*y,!,}$$trate pulse code modulation encoder and decod* ,1:lg-*jrl

. 
t.t-",,. oR

6 a. With appropriate dia$dins, explain frequency
division multip lexingr:.

..,:lltrr:.:,tlttrlrll!

idth requirerfients. (10 Marks)

techniques to spread the bandwidth.

division multiplexing and wavelength
(10 Marks)

b. A bit stream tg0*J 101 is transmitted using the standard CRC method. The generator

polynomial is;x.3'*1. What is the actual bit string transmitted? Suppose the third bit from the

left is inverted during transmission. How will receiver detect this error?

,:::::::::lll(fiil$;l

&ilt ''r.,. (10 Marks)
Four channeli*afe multiplexed,,,S.l$E Time division multiplexing. If each channel sends

100 byte$ffdve rnultiplex li'Sy,td per channel, show the frame travelling on the link, the
size of thelfr;itne, the duration,pf d frame and bit rate for the link. (10 Marks)
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(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

Module-4
With a neat flow diagrarq illustrate the working of
Explain the three channelization protocols in the

Describe the frame format of
With necessary diagrams,

P!.rvr uv!.

architecture ofl

With neat diagrarn, exp
Explain the

fBhetooth architecffi
lar telephony. ffiu
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7a.
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10 a.

b.

9a.
b.
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- m &fl a" (10 Marks)

b. With necessary diagrams, expl&in any tw&gr&olled access protocgffi' (10 Marks)
dreeh';* d6-*L "q '*dl
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